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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1343 17 5.8 25 68.1 58.1
2 610 12.5 6.1 25 50.2 26.4
3 1556 13.2 5.3 25 52.9 67.3
4 1024 13.7 5.8 25 54.8 44.3
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q.1 Study the following and answer the questions based on it. 
 


“A range of factors – the expansion of the regulatory state, the rapidly 
changing nature of technology, the growth of EU legislation-have all 
contributed to a significant increase in the volume, technicality and complexity 
of delegated litigation in recent years. It has also been widely asserted that the 
use of delegated legislation has increasingly drifted into areas of principle and 
policy rather than technical areas of operational detail. Yet very little is 
currently known about how decisions are made within Government about the 
delegation process….” 


[Source: Lifting the Lid on Delegated Legislation, Hansard Society, January 2013] 
 


(a) Explain the types of delegated legislation. [14] 
 


Credit reference to: 
• Scale: much more than primary legislation 
• Orders in Council S2(2) ECA 
• SI e.g. Limited Liability Partnership Act 2002 
• Bye Laws 
• Court Rule Committee 
• Regulation by professional bodies 
• Measures and devolution history, for example in Wales 


 
Marks AO3 


1 Presents effective communication using appropriate legal terminology. 
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology. There are significant errors of grammar, punctuation 
and spelling which detract from communication of meaning. 


 


Marks AO1 
 Knowledge and Understanding 


11-13 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content. They display a sound 
understanding of the practical application of the law and are aware of current 
debate and criticism including the major proposals for reform. 


7-10 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the 
concepts and principles underlying that subject content. They display a 
general understanding of the practical application of the law and are aware of 
aspects of current debate and criticism. 


3-6 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content. They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject 
content relevant to the question and/or identify some of the relevant 
principles. They demonstrate occasional basic insights into some of the 
concepts and principles underlying the subject content. They display a basic 
understanding of the practical application of the law. 
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(b) Discuss the advantages and disadvantages of delegated legislation. [11] 
 


Credit reference to: 
• Time 
• Specialisation 
• Erosion of constitutional role of Parliament 
• Democratic deficit 
• Note: controls on delegated legislation 


 
Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear 
application using appropriate legal terminology. This does not mean that 
there are no errors in grammar, punctuation and spelling but these will only 
be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology. Whilst there may 
be errors in grammar, punctuation and spelling, these are not enough to 
detract from a mostly effective communication of meaning. 


 
Marks AO2 


 Skills 


8-9 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation. This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question. They support their conclusions by citation, analysis and analogy. 


6-7 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation. This is achieved through their selection of legal authorities, 
by appropriate methodologies and by their ability to apply the law to a given 
question and support their conclusions by citation. 


4-5 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-3 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply the law to a given factual situation in a 
generally inaccurate and unsubstantiated way.  There will be little or no 
reference to legal authorities and points will not be developed. There will be 
very limited evidence of structure in the candidate's response. 
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Sticky Note

3 type of delegated legislation, but lacking detailed definitions and examples.
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Sticky Note

Some good points, but lacks evaluation.
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Sticky Note

A better definition of delegated legislation at the start would have enhanced the answer. 



Sticky Note

Good to see the inclusion of Welsh Assembly Orders.







Sticky Note

All main types of delegated legislation identified, controls also included, which is good practice, however overall the answer lacks examples and thorough explanation for top marks.
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Sticky Note

Lacks focus on evaluation throughout the answer.
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1.	 Study the following and answer the questions based on it.


	 “A range of factors – the expansion of the regulatory state, the rapidly changing nature of 
technology, the growth of EU legislation – have all contributed to a significant increase in the 
volume, technicality and complexity of delegated legislation in recent years. It has also been 
widely asserted that the use of delegated legislation has increasingly drifted into areas of 
principle and policy rather than technical areas of operational detail. Yet very little is currently 
known about how decisions are made within Government about the delegation process …”


Source: Lifting the Lid on Delegated Legislation, Hansard Society, January 2013


	 (a)	 Explain the types of delegated legislation.	 [14]


	 (b)	 Discuss the advantages and disadvantages of delegated legislation.	 [11]
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Q.3 Study the text below and answer the questions based on it. 
 


“It is a principle of construction of the United Kingdom statutes… that the 
words of a statute passed after the Treaty has been signed and dealing with 
the subject matter of the international obligations of the United Kingdom, are 
to be construed, if they are reasonably capable of bearing such a meaning, as 
intended to carry out the obligation and not be inconsistent with it.” 


[Source: Garland v British Rail Engineering Limited (1982)] 
 


(a) Explain the effect of EU Law on the interpretation of statutes. [14] 
 


Credit reference to: 
• The Van Colson principle 
• “Copy out” principle of application of direct use in English Law 
• Credit will be given for relevant citation of statute and also case law 
• Purposive approach 


 
Marks AO3 


1 Presents effective communication using appropriate legal terminology. 
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology. There are significant errors of grammar, punctuation 
and spelling which detract from communication of meaning. 


 


Marks AO1 
 Knowledge and Understanding 


11-13 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content. They display a sound 
understanding of the practical application of the law and are aware of current 
debate and criticism including the major proposals for reform. 


7-10 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the 
concepts and principles underlying that subject content. They display a 
general understanding of the practical application of the law and are aware of 
aspects of current debate and criticism. 


3-6 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content. They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject 
content relevant to the question and/or identify some of the relevant 
principles. They demonstrate occasional basic insights into some of the 
concepts and principles underlying the subject content. They display a basic 
understanding of the practical application of the law. 
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(b) Using your knowledge of statutory interpretation, explain how a court 
might approach the interpretation of this section in the light of the facts 
set out below. [11] 


 
Protection of Fish in the Celtic Sea (fictitious) Act 2014 


 
Section 1 makes it an offence to fish in the Celtic sea without a licence. 


 
Section 2 provides that “a licence is granted to all fishing boats so long 


as they have been adopted for private use and enjoyment and 
no licence shall be granted to commercial fishing vessels”. 


 
David owns a fishing trawler which he operates in the North Sea. While 
visiting his friend Ernie in Tenby he agrees to take him out on a special cruise 
to include some fishing in the Celtic Sea. In order to celebrate Ernie’s 45th 


birthday, they agree not simply to use some rods but to cast some nets in 
order to catch fish for his special birthday party in Tenby when he expects 
150 of his friends to be present. Whilst fishing in the Celtic Sea, the vessel is 
boarded by the Royal Navy and David is arrested under Section 1 of the Act. 
Advise David. 


 
Credit reference to: 
• Application of different rules to this scenario 
• Application of various ways of interpretation of the statute 
• Discussion of the purpose of the act 
• Credit will be given for relevant citation 


 
Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear 
application using appropriate legal terminology. This does not mean that 
there are no errors in grammar, punctuation and spelling but these will only 
be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology. Whilst there may 
be errors in grammar, punctuation and spelling, these are not enough to 
detract from a mostly effective communication of meaning. 
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Marks AO2 
 Skills 


8-9 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation. This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question. They support their conclusions by citation, analysis and analogy. 


6-7 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation. This is achieved through their selection of legal authorities, 
by appropriate methodologies and by their ability to apply the law to a given 
question and support their conclusions by citation. 


4-5 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-3 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply the law to a given factual situation in a 
generally inaccurate and unsubstantiated way.  There will be little or no 
reference to legal authorities and points will not be developed. There will be 
very limited evidence of structure in the candidate's response. 
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Sticky Note

General EU answer focuses on sources and direct effect, lacks focus on the actual question, only brief reference to statutory interpretation. The answer should focus on the purposive rule with cases to support. 

A03-1
A01-8     











Sticky Note

4 Rules with application and cases. Try and support each rule with at least 1 case and also good practice to include aids if relevant. 
Candidates need to discuss all 4 rules, with application and cases to achieve the top marks. 

A03-2
A02-8.












3.	 Study the following and answer the questions based on it.


	 “It is a principle of construction of the United Kingdom statutes … that the words of a statute 
passed after the Treaty has been signed and dealing with the subject matter of the international 
obligations of the United Kingdom, are to be construed, if they are reasonably capable of bearing 
such a meaning, as intended to carry out the obligation and not be inconsistent with it.”


Source: Garland v British Rail Engineering Limited (1982)


	 (a)	 Explain the effect of EU law on the interpretation of statutes.	 [14]


	 (b)	 Using your knowledge of statutory interpretation, explain how a court might approach the 
interpretation of this section in the light of the facts set out below.	 [11]


		  Protection of Fish in the Celtic Sea (fictitious) Act 2014


	 Section 1	 makes it an offence to fish in the Celtic Sea without a licence.


	 Section 2	 provides that “a licence is granted to all fishing boats so long as 
they have been adapted for private use and enjoyment and no 
licence shall be granted to commercial fishing vessels”.


		  David owns a fishing trawler which he operates in the North Sea. While visiting his friend 
Ernie in Tenby he agrees to take him out on a special cruise to include some fishing in 
the Celtic Sea. In order to celebrate Ernie’s 45th birthday, they agree not simply to use 
some rods but to cast some nets in order to catch fish for his special birthday party in 
Tenby when he expects 150 of his friends to be present. Whilst fishing in the Celtic Sea, 
the vessel is boarded by the Royal Navy and David is arrested under Section 1 of the Act. 
Advise David.
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Q.4 Study the text and answer the questions based on it. 


“On principle it seems to me that, while this court shall regard itself as 
normally bound by a previous decision of the court, nevertheless it should be 
at liberty to depart from it if it is convinced that the previous decision was 
wrong. What is the argument to the contrary? It is said that, if an error has 
been made, this court has no option but to continue the error and leave it to be 
corrected by the House of Lords. The answer is this: the House of Lords may 
never have an opportunity to correct the error; and thus it may be perpetuated 
indefinitely, perhaps forever.” 


[Source: Lord Denning, Davis v Johnson (1978)] 
 


(a) Explain the extent to which the Court of Appeal is bound by its 
decisions. [14] 


Credit reference to: 
• Practice Statement of the House of Lords 1966 
• Civil cases are usually bound by ones where the Court of Appeal has to 


follow its own decisions according to the principles in Young v Bristol 
Aeroplane 


• Criminal cases approach 
• Significance of the “leapfrog” and accessibility of case law 


 


Marks AO3 


1 Presents effective communication using appropriate legal terminology. 
Nonetheless, there may be several errors in grammar, punctuation and 
spelling, although not enough to detract from communication of meaning. 


0 Fails to communicate and present logical argument, including inadequate use 
of legal terminology. There are significant errors of grammar, punctuation 
and spelling which detract from communication of meaning. 


 


Marks AO1 
 Knowledge and Understanding 


11-13 Candidates display a sound knowledge and understanding of the subject 
content relevant to the question and a good perception of the concepts and 
principles underlying that subject content. They display a sound 
understanding of the practical application of the law and are aware of current 
debate and criticism including the major proposals for reform. 


7-10 Candidates display an adequate knowledge and understanding of the subject 
content relevant to the question and have a perception of some of the 
concepts and principles underlying that subject content. They display a 
general understanding of the practical application of the law and are aware of 
aspects of current debate and criticism. 


3-6 Candidates display a limited knowledge and understanding of the subject 
content relevant to the question with limited insight into some of the concepts 
and principles underlying that subject content. They display a limited 
understanding of the practical application of the law and are aware in general 
terms of some of the current criticisms. 


0-2 Candidates display a basic knowledge and understanding of the subject 
content relevant to the question and/or identify some of the relevant 
principles. They demonstrate occasional basic insights into some of the 
concepts and principles underlying the subject content. They display a basic 
understanding of the practical application of the law. 


 







(b) Discuss the arguments for and against judicial law making. [11] 
 


Credit reference to: 
• Speed 
• Judicial decisions deal with real situations 
• Precedent operates outside the party political arena 
• Perceived weaknesses of judicial law making including the process is 


haphazard; judges are ill equipped for the work of law making; 
constitutional restraints on judicial law making; public policy; moral issues; 
the relevance of parliamentary action and inaction 


• Credit will be given for relevant and accurate citation of case law and 
other statutory material 


 
Marks AO3 


2 Presents a wholly logical and coherent argument and provides clear 
application using appropriate legal terminology. This does not mean that 
there are no errors in grammar, punctuation and spelling but these will only 
be occasional. 


1 Presents a mostly logical and coherent argument and provides a reasonably 
adequate application using appropriate legal terminology. Whilst there may 
be errors in grammar, punctuation and spelling, these are not enough to 
detract from a mostly effective communication of meaning. 


 
Marks AO2 


 Skills 


8-9 Candidates demonstrate a sound evaluation of how the law operates, or an 
accurate and well-substantiated application of the law to a given factual 
situation. This is achieved through their selection of legal authorities, by 
appropriate methodologies and by their ability to apply the law to a given 
question. They support their conclusions by citation, analysis and analogy. 


6-7 Candidates demonstrate an adequate evaluation of how the law operates, or 
a generally accurate and substantiated application of the law to a given 
factual situation. This is achieved through their selection of legal authorities, 
by appropriate methodologies and by their ability to apply the law to a given 
question and support their conclusions by citation. 


4-5 Candidates demonstrate a limited evaluation of some of the points of how the 
law operates, or apply the law to a given factual situation in a partly accurate 
and occasionally unsubstantiated way.  This is achieved through a limited 
selection of legal authorities and limited ability to apply the law to a given 
question. 


0-3 Candidates demonstrate a basic evaluation of one of the simpler points of 
how the law operates or apply to the law to a given factual situation in a 
generally inaccurate and unsubstantiated way.  There will be little or no 
reference to legal authorities and points will not be developed. There will be 
very limited evidence of structure in the candidate's response. 
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Sticky Note

Implications of the provisions of Young.







Sticky Note

Some attempt to focus on the actual question, but not explicit enough, and lacks detail.

A03-1
A01-10 











Sticky Note

General precedent answer - lacks evaluation and cases.

A03-1
A02-7
















4. Study the following and answer the questions based on it.


“On principle it seems to me that, while this court shall regard itself as normally bound by
a previous decision of the court, nevertheless it should be at liberty to depart from it if it is
convinced that the previous decision was wrong. What is the argument to the contrary? It is said
that, if an error has been made, this court has no option but to continue the error and leave it to
be corrected by the House of Lords. The answer is this: the House of Lords may never have an
opportunity to correct the error; and thus it may be perpetuated indefinitely, perhaps forever.”


Source: Lord Denning, Davis v Johnson (1978)


[14] (a) Explain the extent to which the Court of Appeal is bound by its decisions. 


(b) Discuss the arguments for and against judicial law making. [11]











